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	Level
	Key Questions

	8
	· The cumulative frequency curves show the weights (in kilograms) of 140 pigs belonging to Farmer Giles (in blue) and 140 pigs belonging to Farmer Barleymow (in red).  Use the graphs to make comparisons between the two groups of pigs.
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Use the cumulative frequency curve in section 8b to estimate the number of pupils who are between 163 cm and 171 cm tall.

· The headteacher of the school is 179 cm tall.  Estimate the number of pupils in Year 11 who are taller than him.

	
	Height (cm)

Frequency

155 ≤ h < 160

2

160 ≤ h < 165

7

165 ≤ h < 170

15

170 ≤ h < 175

19

175 ≤ h < 180

23

180 ≤ h < 185

11

185 ≤ h < 190

3

· The table shows the height of 80 Year 11 students.  Plot a cumulative frequency curve for the data.

· Use the curve to estimate the interquartile range for the data.



	
	· Use the cumulative frequency curve showing the weights of the 140 pigs belonging to Farmer Barleymow (in section 8(a)), to estimate the median weight of his pigs.

	7
	· Calculate an estimate of the mean height of the Year 11 students in section 8(b)

· Estimate the median for the data

	
	· Construct a frequency polygon for the data in section 8(b)

	
	· Estimate the range of heights of the 80 Year 11 students in section 8(b).

· What is the modal class for the same data?

· Which is the most appropriate average to use in each of these cases:

(1) Describing length of pregnancies in women
(2) Comparing heights between two sets of students
(3) Most popular newspaper in a survey

Give reasons for your answers
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Draw a line of best fit on the scatter diagram here which compares the wingspan in cm (y) and length in cm (x) of several birds of prey.  Use it to estimate the length of a bird which has a wingspan of 72 cm.

	6
	· Construct a pie chart for the data (favourite ice-cream flavours) here:

Vanilla

Choc-chip

Mint

Strawberry

Rum n’ Raisin

13

11

6

2

17

· Construct a scatter diagram for the data here:

Height (cm)

135

145

162

149

154

156

139

146

140

160

153

155

140

136

Shoe-size

4

6.5

8.5

7

7

8

5

6

6.5

9

5

5

4.5

6



	
	· What does the scatter diagram in section 7(c) show you?

	
	· Construct a pie chart for the data (favourite ice-cream flavours) here:

Vanilla

Choc-chip

Mint

Strawberry

Rum n’ Raisin

12

6

3

9

6

· Construct a frequency diagram for the data in the grouped frequency table here:

Length (mm)

Frequency

55 ≤ h < 60

2

60 ≤ h < 65

7

65 ≤ h < 70

15

70 ≤ h < 75

11

75 ≤ h < 80

10

80 ≤ h < 85

6

85 ≤ h < 90

3

· Melissa is investigating the lengths of worms in her garden and the results she finds on one particular day are in the table below.  Put the results into an ordered stem-and-leaf diagram and use it to work out the median length of worms found.

83

71

84

72

89

71

60

75

78

68

64

69

71

82

79

77

81

64

76

77

56

61

72

78

66

75

66

62

88

68

66

74

80

59

74

64



	5
	· The mean of three numbers is 16 and their range is 10.  If their median is 18, what are the three numbers?

· Calculate the mean and range for the ‘burn-time’ (in hours) of a torch when using two types of batteries as shown below.  Use your results to justify which type of battery you would use.

Ever-Steady

6

7.5

5.5

5.25

4.75

5.75

6.5

5.5

Ever-Go

7

6.5

2.5

7.75

8.25

7.5

8

8.5



	
	· Helen needs an average mark of 70 over four modules in order to pass her exam.  Her current marks are 78, 56 and 64.  What is the minimum mark she must get in her final module in order to pass?

· What is the median of the set of numbers here:  15, 17, 23, 9, 11, 27, 31, 6, 12, 16  ?

· Look at the pie chart below, which represents the answers in a survey from 36 pupils.

(1)  How many pupils are one of three children in a family?

(2)  Roughly what percentage of pupils are in a family with four children?
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	· Find the mean and median of the set of numbers here:  15, 17, 23, 9, 11, 27, 31, 6, 12  

· Show that the mean of the numbers below is 7:  

4

9

8



	4
	· Plot a line graph to show the height above ground of a cricket ball after it is hit straight up into the air as shown in the table below:

Time (sec)

0

1

2

3

4

5

6

Height

1

16

21

22

21

17

0

· Melissa is investigating the lengths of worms in her garden and the results she finds on one particular day are in the table below.  Put the results into a grouped frequency table.

83

71

84

72

89

71

60

75

78

68

64

69

71

82

79

77

81

64

76

77

56

61

72

78

66

75

66

62

88

68

66

74

80

59

74

64

· Find the mode and range of the set of numbers here:  15, 17, 8, 9, 15, 7, 21, 6, 12  ?

· Construct a frequency table for the data that has been collected here:

Bike
Bus
Car
Walk
Bike
Bike
Car
Bus
Bike
Car
Bike
Bus
Bike
Car
Car
Bike
Bike
Car
Bus
Walk
Bus
Bus
Walk
Car
Bus
Bike
Car


	3
	· Construct a bar chart for the data in the table below:

Method of transport

Car

Bus

Bike

Walk

Frequency

8

12

7

3
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· Look at the bar chart here which shows the answers in a survey from some pupils.

(1)  How many pupils are in a family of three children?

(2)  How many pupils took part in the survey?

(3)  What is the most common number of children in a family?

(4)  The school wants to reduce the number of cars arriving at school in the mornings.  What other information should they collect?















































































































































































�





�





�








[image: image5.png]www.kangaroomaths.com



© 2008


